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 1 1 2  3 

1
 

2
 

3
 

 

k 300 -  2400 

-

 

 

 

 

m  

k-

n, nm  

nxmxq
2)(  

-

n. 

 

 

 

n = 10001010111111000110001011111000100101000100101100001000101010 101111000 

1010101011101011101010001000101 (k=102 -

10001100000101000001111011010011101 1101010110000111 

q=1111111000000000110001100001001111111111 01011010011  

nm  = 

101111001010000010101101000001010101011110011100000

10111100101000001010110100000101010 1011110011100000 

1000011010011100010101101110100 0010101101001100 

q(x). nxm
2  
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100101111010100100010100100100110111011001100011001000001011011100110111110

000110111111100011110010000 . 

 

-

[3]. 

 n, 

*
cP .  

b1,b2,bi bk], i=1,2,3...k 

1 2 i k bi =res *
cP mod pi

S0 =( *
cP )2 = (S1,S2,Si,Sk), i=1,2,3...k Si= res (bi 

  bi ) mod pi 0 =S0  n 

0 i=res S0i  bi

S0 12 *
cP S  

 0
2*2 xxPS cx .  

Sx,  Sx-1, Sx-2 Sx-z, 

xPc

* S

S S -z

S = S -z p,q 

izxc SxPp ,
* , xPSq cizx

*
,    

 n=93=pq p=3, q=31.  

9,6436507n , 

10n

100102 7931000 70S

211102

xS

 

n  

 n .  

n, 25. 
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p1=5, p2=7, p3=11 - 

n=93. 

 
- n   

0  

 

p1=5, p2=7, p3=11

 

- 

p1=5, p2=7, p3=11) 

x  0 1 2 3 4 5 6 7 

P1=5 2 3 1 1 3 2 3 1 

1 3 3 0 2 4 1 2 

0 1 2 3 4 0 1 2 

0 1 4 4 1 0 1 4 

P2=7 0 0 2 6 5 6 2 0 

0 2 2 4 6 1 3 4 

3 4 5 6 0 1 2 3 

2 2 4 1 0 1 4 2 

P3=11 7 6 7 10 4 0 9 9 

10 1 1 3 5 7 9 10 

10 0 1 2 3 4 5 6 

1 0 1 4 9 5 3 3 

  7 28 51 76 103 132 163 196 

  21 23 23 25 27 29 31 17 

 10 11 12 13 14 15 16 17 

 100 121 144 169 196 225 256 289 
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- 4 

- 

 

 

 
  

 

- 

n 

- 

 

 - - 

- - 

- - - 

- -  
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[5] 
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 [6-7]. 

 

 

- 

0 .  

 

-  

 

 

5 6 7 8 9 10 11 12 13 14 15.  

-  

5 1 2 3 4 5 6 7)2=(17 +19+23+25+27+29+31)2=257 v; 

6= 4v ; 

7 1 2 3 4 5 6 7)/2=(17 +19+23+25+27+29+31)/2=86 v; 

8 1 2 3 4 5 6 7)=171; 

9 1 2 3 4 5 6 7)=171; 

10 1
2

2
2

3
2

4
2

5
2

6
2

7
2

1 2 3 4 5 6 7)= 4506 v; 

11 1 2 3 4 5 6 7) 320=(17 +19+23+25+27+29+31) 320= 54720 v; 

12 = Log2 1 2 3 4 5 6 7)=8 v; 

13 A7  v; 

14=(16+15+13+11+7)  v. 

 

  

 [8-9]: 

5 + 7 + 10 + 11 + 12 5 =2 ; 7 =1 ; 10 =2 ; 11 =3 ; 12 =2 . 
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